6.562 3 6.54°
36] 1 6.01 1751 1175 6.01 1 136
T li |
(>0
‘H[ \‘ 4 Lo
(0 e
3 =T s
| i ) s )
—— i 1 I \\'-'"') \h../]
e EEEE L ¥
f,. Ll T : /1
» 4+ F1 JerFosss I < 5T TeffaiBE T
i (K‘_\\-.D T RJ"'"TE ’L_ I I i
_—_-_;I-——:: 0 ( ol ) [I 1 -1 pfmrm=rme
| . L : . ;
31 \_.7'}“ f U] e I | :
| ' [ | |
- ] J { Garage
2 I | i jo
legrleisfunql ! = — ,_L l} {Sonderieistur
| = " | = !
| |
| R H
1 5 | | |I
I Wohnen/Essen Wohnen/Essen i
i £0.93m?2 £0.93 m? 1
| !
1 I
A Offener Kamin T | e 10 ffener Kamy {L _
"""'""'1; ({Sonderieistung) T g0 LBl il Sonderleistugh) s s
Treppe in abgeschragter [l [ /"~ ‘—i .
——— Form (Sond:il:istung] lj' # P -
I
- o 4 . PKW -
lplatz e e T % i L Stellplatz
[
- | ; ..
Kuche - Diele Diefe Kuche
10.50 m? 6.60m2 6.6fm2 10.50 m?
C /
G N 7m? E Tm?
e e = I e e e D —
i-‘ T {- . tl L j’?l
S S A 5
ldf—:')r‘} 7 ¢ D
G JJ‘J -/ { 1« ,--\—~
(1,7 . s
Es \d . . \
+ 1
U / | \ X




6.54°2 3 6,542
36i 3.01 n%i 2885 175 (S 2.88° ”SH 3.01
— " Agom L. L. || I|ms 1 -
.......... tebee |J'L[:r % f_— | | ——j
2.0omi.L. [N . J ..... e =
L Kindg Kind 1 Kind 1]Kind 2
= 16.12m73 | 12 L1m? ilz.lﬂmz 16a2m2 f
= v | !
& g |
o 3 Ue U/ Op
o % iz :
a5 T ] Flur Flur
- : 3.77ml {__37Tm?
Eltern : Eltern
1L.96m? 16 9L m? D
‘:; |: Badz' : B cl2 =
817m Tmef o
Ao m L LTI [ @ T & @ r
— Lo B o
k- |

Ne 2L




6.545 3 6.54

369 | 6.00° 1774 ,17° 6.00° ,

SHIE =TT
F=z =
= ['T"‘:ll T :
F=-7r-4 |- 1
e e e T |
protpent ey |
it |
—+-1lF—— | KellerauRentrenpe
.:" t:l_:fl | { AusfGhrungsueispiel )
=T =3 |
| s T
i __'1! E & | tht{'ﬂ.u"'
i1
| il !
! |
Abst. /Vorrat Abst./Vorrat
m
<
-
o T,
- S—
(Ta)
(=]
o 2
= o~
e ———
;I—
™~y
(Tg]
[« =]
)
"Qo

K.G.

er.l'l' 4




